A

S A2
MM ZOHO ZAO KAWL (A2H)

ool EJAE XAML(AEW) (erel:&d)
2 A .2 (S H) - HEMNY - BHES 01l Ao I AR Husz
2=2d 1,209,378 1,198,718 10,660
FOIMO =M XY (LEH) 839,000 834,000 5,000
ZEJEsE YL (2d2H) 839,000 834,000 5,000

ARE FOSAAY(U2H) 765,000 765,000 0
401 Al 2 HIZ 20| 765,000 765,000 0
01 A& H| 765,000 765,000 0

O/t Or2ot2 &M 2J](L=500m)

A 24,477,000 24,477 32,000 A7,523
OBH0I A AFHEH| (L=100m) Z A 28,855,000 28,855 30,000 A1,145
OZ XA Hi£=ZFHl(L=100m)

ZX 11,027,000 11,027 12,000 A973
OKHA DF=2et2 M <I|(L=500m)

22X 26,236,000 26,236 30,000 N3,764
OE® 02t &M 2I((L=500m)

23X 27,103,000 27,103 30,000 A2,897
Ootels Dotz A4 < I](L=500m)

22X 29,487,000 29,487 35,000 A5,513
OY Y%= 424 Xl (L=100m)

22X 7,846,000 7,846 35,000 N27,154
O4lD| OrSHi4=2 =K (L=50m)

23X 19,489,000 19,489 20,000 A5
ORPH 2 I E(L=150m) Z A 25,475,000 25,475 25,000 475
Ot Hi&2 & (L=100m) ZA 11,666,000 11,666 15,000 N3,334
OASE =2 I A(L=150m) Z A 25,456,000 25,456 30,000 N4,544
OasS S22 X 2 24 X (L=150m)

22X 22,986,000 22,986 25,000 A2,014
Oas s2 I & (L=150m) Z A 26,797,000 26,797 30,000 A 3,203
O=2s Or2et2 & & (L=150m)

AE 31,659,000 31,659 35,000 A3,341
OAreHeF D2 et %M J|(L=500m)

AE 14,539,000 14,539 17,000 A2, 461
Qotes 2 Hi =2 M & X (L=100m)

A 42,881,000 42,881 48,000 A5,119
OAItH D232 23 2 & (L=40m) 3F o0’ 0 10,000 A 10,000
OAlY OtEes2 3 9,500 0 9,500
OMlY 2 S2HE 18,698 0 18,698
OBt0l A =24 X 3,325 0 3,325
OA0IA DSt M <2I](L=200m)

23 13,454,000 13,454 17,000 A 3,546
OADIA B2 4X 11,400 0 11,400
OZXA =2 I A (L=120m) Z A 24,653,000 24,653 25,000 A 347
OS2 HER 2 2HEE=47] 9,975 0 9,975
O™ =2 A (L=70m) 23X 25,665,000 25,665 15,000 10,665
O AtHZEH| 17,266 0 17,266
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N = 0 &8 AH Y H N AN
20208 = =4 3 35 etg H 2=2H
SN 22
M FOIEO FAO KAWL (L2H)
SHel BEHUS NANL(RES) (el @ e)
2 A .2 (S H) - HEMNY - BHES 0] AFoH Iy H H &2
Ootols =2 & (L=70m) ZA 14,006,000 14,006 15,000 A 994
OotlS Hil&2 & 17,300 0 17,300
OBXE S22 EX(L=70m)
A 35,278,000 35,278 35,000 278
OZXs Megn B84 & =4 (L=15m)
23 8,100,000 8,100 15,000 26,900
Odgads Ntsga g 48 0 0 7,000 A7,000
OAl)| IIESEMHEE L 22 & 7,600 0 7,600
ORFH 82 S 2 ZE(L=100m)
23 21,987,0002 21,987 18,000 3,987
OS% =2 X (L=90m) AR 14,343,000 14,343 17,000 A2,657
Oats ootz &= 9,313 0 9,313
O|0IE HolEEx® XY A2 (L=150m)
A 25,524,000 25,524 25,000 524
OR2S H£Z 3l (L=100m) ZE& 8,360,000 8,360 15,000 AB,640
O=42 2ot IM =2 (L=500m) Z2H o 0 40,000 240,000
Outy =2 TR (L=100m) 22X 18,944,000 18,944 20,000 A 1,056
ONHE =& A3 9,500,000 9,500 10,000 2500
OARIDFOU=2AAN MAIEHES
A 6,384,000 6,384 7,000 A616
O2s H+2FY| 3,800 0 3,800
OUAS 22 Fy 12,000 0 12,000
OARZAERNE S 17,646 0 17,646
IRE |22 (22Y) 74,000 69,000 5,000
201 LBt 44,000 54,000 210,000
02 222 44,000 54,000 A 10,000
OJI2s HIIR3 2 44,000,000 44,000 54,000 A 10,000
401 AlEHI L= 30,000 15,000 15,000
01 Al&HI 30,000 15,000 15,000
Os&EIRE IS 23 30,000,000 30,000 15,000 15,000
HYSHAH (A2H) 181,009 175,349 5,660
l2dd(22d) 76,622 70,962 5,660
=2FH (22Y) 76,622 70,962 5,660
201 Yt 23,476 23,416 60
01 AFR 22| H 19,956 19,896 60
OL A 23X 60,0002 * 18 * 1162 6,960 6,900 60
405 KHabE S| 6,370 770 5,600
01 XA 2 E F SH 6,370 770 5,600
OAMNRE Xt 5,600 0 5,600




